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#!/bin/sh
# LS7000XT TCAL check program

DELAY="date +"%Y %y %m %d %H %M"" >/dev/null 2>&1
YY="echo ${DELAY} | awk '{print $2}'"

MM="echo ${DELAY} | awk '{print $3}'"

DD="echo ${DELAY} | awk '{print $4}'"
YYMMDD=${YY}${MM}${DD}

OUT_DIR=/home/qc/nagaoka/TCAL
OUT_FILE=${OUT_DIR}/TCAL_${YYMMDD}.txt
ZONE_LIST=/home/qc/nagaoka/etc/zone_list.txt

ADDR1=xxxxxx@kyoto-u.ac.jp

ADDR2=xxxxxx@kyoto-u.ac.jp
TITLE="LS7000XT TCAL check ${YYMMDD}"
# get TCAL and make text file
¥rm -f ${OUT_FILE}
cat ${ZONE_LIST} | while read LINE
do
0BS="echo ${LINE} | awk '{print $1}'"
O0BS_LEN="echo ${0BS} | wc -m’
IP="echo ${LINE} | awk '{print $2}'°
TMP=${OUT_DIR}/tmp_${OBS}.txt
¥rm -f ${OUT_DIR}/tmp_*.txt
if [ ${OBS_LEN} = 4 ] ; then
(echo open ${IP}
sleep 5
echo TCAL
sleep 5
echo exit
sleep 5) | telnet > ${TMP}
if [ "$(cat ${TMP} | grep Connected)" ]; then
RESULT="cat ${TMP} | awk '/¥*/ {$1 = "";
echo "${0BS} ${RESULT}" >> ${OUT_FILE}
else
echo ${0OBS} Not Conected >> ${OUT_FILE}
fi
else
echo ${LINE} >> ${OUT_FILE}
fi
done

# send mail

cat ${OUT_FILE} | mail -s "${TITLE}" ${ADDR1}
cat ${OUT FILE} | mail -s "${TITLE}" ${ADDR2}

print}'"

=

1.z VA Z YT b




#H#ABUYAMAH##

MYO 192.168.xX.XX
TNJ 192.168.xX.XX
YGI 192.168.xX.XX
OHM 192.168.xX.XX
RKO 192.168.xX.XX
KGM 192.168.xX.XX
KHK 192.168.xX.XX
H#H#TOTTORIH##

SNT 192.168.xX.XX
OYT 192.168.xX.XX
HMT 192.168.xX.XX
MZT 192.168.xX.XX
QMT 192.168.xX.XX
TTT 192.168.xX.XX
TRT 192.168.xX.XX
FBK 192.168.xX.XX
#H#HOKURIKU##

KMJ 192.168.xX.XX
FKJ 192.168.xx.XX
KAJ 192.168.xX.XX
IMJ 192.168.xX.XX
AZJ 192.168.xX.XX
HKJ 192.168.xX.XxX
H#H#KAMITAKARAH##
SGR 192.168.xX.XxX
KTJ 192.168.xX.XX
NRJ 192.168.xX.XxX
FMJ 192.168.xX.XX
NNJ 192.168.xX.XxX
TYJ 192.168.xX.XX
YKE 192.168.xX.XX
HHMIYAZAKIH##

SKM 192.168.xX.XxX
KSM 192.168.xX.XX

B 285 Y X+ (zone_list.txt)

2207 OETEHEICOWT, BHEICHAT 3,
4-8fTH : FHAHARR T %, (Wh7 7 A L&)

10-16 1TH : KL ZERT 5,

0fTH : &0k, BNI77ANER—D 7 7 A ABENIREEICT 5,
22f7H  BIHSR Y 2 (K 2) ZFAAs 1T 2ETT 5,
24-27 fTH : BE Y 2 b (K 2) 2o HRAALETTH L, DEAEREE
BWIcRAT 3, K77 AL %IEET 5,
31-37 f7H : BIHIA Y X+ [##] CHENAATIIEZEEZ LW 27201
ALTWw3EED, BBt TEE 7 7 AL~ NT 2, 1HEBTALZ 7y
P 3 XFEAR=RDEE 4 XFOHA, 6T S5 IP 7T FLARICHLT




telnet E&fite. MIZIRIEEHRZIUF L. —R7 7 A A~HT13 5,

38-42 1T7H : telnet iR ICGEOoNBEHREEE 7 7 A viciiI 35, U
I¥ telnet L ICHIN L 728556 (K 3) L RML 7254 (K 4) offk<cd 5,
7 7 A VWIC [Connected | OLFHNH B 2 G54 3 Ehi kM & HE L. BUAH
R & SCHM* | ORAIR IETEIRIT 2 — 3 BE L Clfd 7 7 A Vit 3 5,
##%4o [TRUE] 1% GPS ZfS i L <% Y, [FALSE] 1& GPS %Zf5ick
WLCTwaZezEKL, ZoBERCRIARIEOA B Z M2, 7741
MIC [Connected | 23& E NipWEE IRt RB & HIE L, B4 & [Not
Conected | Z&if&7 7 A VIcH 13 5,

Trying 192.168.XX.XX...

Connected to 192.168.xX.XX.

Escape character is '~]'.

LS-7000 Telnet server (DATAMARK-NET ©1.00A) ready.

>TCAL

TCAL

* 22/03/24 17:44:45 000msec FFFFFFFF TCXO= 3 TEMP= 15.5 TRUE
>exit

exitConnection closed by foreign host.

B 3.telnet BEFEA I O A #ER

Trying 192.168.XX.XX...
telnet: connect to address 192.168.xx.xx: Operation timed out
telnet: Unable to connect to remote host

X 4.telnet BEfe RBREO HATRER
51-52fTH : &k 7 7 A VONE % A — L CREBRE~EET %,

3. ®™R

A =Tl EBEOHIFERIZLLT (K 5) oX5icknd, [##] TIHE 5
TIEABHEO LM E R L CTEY . ZO TEIXNROBLNMEICE T h 2 8Ll
MO ER RO &L > T3,
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##ABUYAMA##

MYO
TNJ
YGI
OHM
RKO
KGM
KHK

22/03/01
22/03/01
22/03/01
22/03/01
22/03/01
22/03/01
22/03/01

#H#HTOTTORI##
Not Conected

SNT
oYT
HMT
MZT
QMT
TTT
TRT
FBK

22/03/01
22/03/01
22/03/01
22/03/01
22/03/01

11:
11:
11:
11:
11:
11:
11:

11:

11

11:
11:
11:

Not Conected

22/03/01

#H#HOKURIKU##

KM3J
FK3J
KAJ
IMJ
AZ]
HK3J

##KAMITAKARA##

SGR
KT3J
NR3J
FMJ
NN3J
TYJ
YKE

22/03/01
22/03/01
22/03/01
22/03/01
22/03/01
22/03/01

22/03/01

11:

11:
11:
11:
11:
11:
11:

11:

Not Conected

22/03/01
22/03/01
22/03/01

11:
11:
11:

Not Conected

22/03/01

H#HHMIYAZAKI##

SKM 22/03/01 11:
KSM 22/03/01 11:

11:

46:
46:
47:
47:
47:
47:
48:

49:
:49:
50:
50:
50:

52:

52:
52:
52:
105

53

53:
53:

53:

55

57:

57:
00:

34
49
04
19
34
49
05

35
50
05
20
35

03
20
35

50

20
35

50

120
55:
55:

35
50

20

35
32

0vOmsec
0vOmsec
0vOmsec
©eOmsec
0vOmsec
0vOmsec
0vOmsec

0vOmsec
0vOmsec
0vOmsec
0vOmsec
0vOmsec

©0omsec

0vOmsec
0vOmsec
0vOmsec
0vOmsec
0vOmsec
0vOmsec

00omsec

00omsec

©0omsec

©0omsec

©0omsec

00omsec
00omsec

00000000
00000000
00000001
FFFFFFFF
00000000
FFFFFFFA
00000001

00000001
00000002
00000000
00000000
00000000

00000000

00000000
00000000
00000000
00000001
00000000
FFFFFFFF

FEEC5247

FFFFFFFF

00000000

FFFFFFFF

00000000

FFFFFFFF
00000299

TCXO0= 1 TEMP= 14.0 TRUE
TCXO0= 8 TEMP= 14.5 TRUE
TCX0=-003 TEMP= 14.5 TRUE
TCXO0= 16 TEMP= 16.0 TRUE
TCXO0= 4 TEMP= 12.0 TRUE
TCXO0= 23 TEMP= 15.0 TRUE
TCXO0= 56 TEMP= 12.0 TRUE

TCXO0= 63 TEMP= 16.5 TRUE
TCX0=-014 TEMP= 17.0 TRUE
TCX0= 67 TEMP= 20.0 TRUE
TCXO0= 4 TEMP= 13.5 TRUE

TCXO0= 11 TEMP= 29.0 TRUE

TCXO0= 106 TEMP= 18.5 TRUE

TCXO0= 45 TEMP= 20.0 TRUE
TCXO0= 124 TEMP= 17.5 TRUE
TCXO0= 25 TEMP= 10.5 TRUE
TCX0=-017 TEMP= 18.0 TRUE
TCXO0= 5 TEMP= 13.5 TRUE

TCXO0= 32 TEMP= 23.5 TRUE

TCXO0= 128 TEMP= 17.5 TRUE

TCXO0= 123 TEMP= 16.0 TRUE

TCXO0= 80 TEMP= 11.5 TRUE

TCXO0= 22 TEMP= 12.5 TRUE

TCXO0= 35 TEMP= 15.0 TRUE

TCXO0= 14 TEMP= 19.0 TRUE
TCX0=-005 TEMP= 18.5 TRUE

B 5% —AA (HAKR)
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